Intermediate Algebra Skill
Finding the Inverse of a Quadratic Function with Restricted Domain

Find the inverse of the given function:

D) f(x)=x*=3; (x<0)
2) F(X)=x2+5; (x=0)
3) f(x)=x2+1; (x<0)
4) g(x)=1-x%;, (x=0)
5) g(x)=x% (x20)

6) g(x)=x% (x<0)

7) h(x)=4—x2; (x<0)

2
)

8) h(x)=(x+1) (x<-1)

2
9) h(x)z(x—l) - (x21)

2
;

10) f(0)=(x+3) "5 (x<-3)



Answers to Finding the Inverse of a Quadratic Function with Restricted Domain

Df(x)==x+3 (x=-3)
2) fH(x)=Vx=5 (x25)
3) fr () =—Vx-1 (x=1)
4) g'()=vVl1-x (x<1)
5 g (x)=Vx (x20)
6) g"()=—vx (x20)
7) ' (x)=V4-x (x<4)
8) h'(x)=Vx—1 (x>0)
9) h'(x)=Vx+1 (x=0)

10) f'(x)=vx-=3 (x20)



